Math 10-C Function Notation Assignment Name: |£E 7[
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1. Anairplane flies directly from
Saskatoon, SK, to Vancouver, BC. The
graph shows the relationship between
the distance from Vancouver, d, in
kilometres, and the flying time, 7, in
hours.
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For each of the following, fill in the blanks and explain what the solution means in
the context of the problem.
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2. The cost of a pizza based on the number of extra toppings is given by the graph
below. For each of the following, fill in the blanks and explain what the solution
means in the context of the problem.
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3. The height of tide in a harbor is shown by the graph below. For each of the

following, fill in the blanks and explain what the solution means in the context
of the problem.

Height of the Tide in a Harbour
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4. Create your own problem similar the #1-3. Sketch your own graph of a

scenario, create some questions involving function notation and solve them.
Exchange with a partner.




